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D GO0 ST MEsY B 610 S AB: 61 5oy 5002 LHE (BHH )
2 > oo )13 5 2
EERERE ot
GO0 AT AR 55,592,320 58,500, 000 4.2 507,630
610 B+ 54,008,022 56,508, 022 202,500,000
Gl o ssy 51,805,702 54,403,702 202,500,000
o2 wHEE 17,987,446 18,987,446 401,000,000
QDUHE
17,987 446,000 - 18,957 4460004 = £01,000,000
o4 HEZUE 16, 266, 240 17,786, 240 201,500,000
onzzes
16, 266,240,000 - 17,766, 240,0004 = 201,500,000
G20 B+ 1,954,202 1,991,978 A, 630
622 EEYHTL S+ 1,611,860 1,619,540 AT 630
o WHIYHUS 277,920 285,600 AT 630

QHAMY YL RSLH(NEARD)

0H - 7,630,000& =

A7, 630
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4100 AEEeT B30 NJEddS+D MBI 322 BYALdEESS 8000 A RHEES (BHH )

2 > oo )13 5 2
EERERE ot

g el 8147900 8,000,000 147,900

20 HedHard 8147900 8,000,000 147,900

322 BEYHEEES 2,115,900 1,572,000 147,900

s AEHEZS 147,900 o 147,900
QDEHE sl gasL JdZ M

147,900, 0004 = 147,900






